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Test 1

Section ‘2]

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end

of each conversqtion, one or more questions will be asked about what was said. Both
the conversations and the questions will be spoken only once. After each question there
will be a pause. During the pause, you must read the four choices marked A), B), C)

and D), and decide which is the best answer.

1. A) She takes it as a kind of exercise.
B) She wants to save money.
C) She has a lot of exercises to do in the office.

D) Her office isn’t very far.

2. A) $2.40. B) $3.80.
C) $4.80. D) $7.60.

3. A) At a restaurant. B) At an airport.
C) In a publishing house. D) At a shopping mall.

4. A) 6:20. B) 6:10.
C) 6:50. D) 6:40.

5. A) She agrees with the man. B) They should ask the typist about it.
C) The typist is very good. D) The typist is not good.

6. A) Look for a better restaurant. B) Go to another restaurant by bus.
C) Take a walk around the city. D) Try to find a quiet place.

7. A) He got angry with his boss.
B) He always got work late.
C) He was frequently sick and absent from work.
D) He made a big mistake in an accounting,
8. A) He is considering leaving his girlfriend.
B) He has a deep affection for his girlfriend.
C) He cares about his girlfriend.
D) He has a new girlfriend now.
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Questions 9 to 12 are based on the conversation you have just heard.
9. A) He can’t find his car key. B) He misplaced some exams.
C) He is unable to talk. D) He doesn’t like his classes.
10. A) Mark the latest homework assignment.
B) Tell the students the class is cancelled.
C) Make an appointment with a doctor.
D) Return some papers to his students.
11. A) Give a class for Don while he’s absent.
B) Give Professor Webster the key to Don’s office.
C) Leave a message on the board.
D) Bring Don the homework on his office table.
12. A) Give the key back to Don.
B) Go to the hospital to see Don.
C) Tell Don’s students about the next assignment.
D) Make a phone call to Don.

Questions 13 to 15 are based on the conversation you have just heard.
13. A) They are going to invite some friends to play cards.
B) They plan to go to a Chinese restaurant.

C) They will go to see a horror movie.

D) None of the above.

14. A) At 6:30. B) At 8:00.
C) At 5:30. D) At 6:00.

15. A) At 6:00, at Rex. B) At 6:00, at Sunny Woods.
C) At 5:30, at Sunny Woods. D) At 8:00, at the theatre.

'Section 2|

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will

hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question, you must choose the best answer from the four choices marked A),

B), C) and D).

Passage One

Questions 16 to 18 are based on the passage you have just heard.

"16. A) Mechanic. B) Bank employee.
C) Bank guard. D) Policeman.
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17. A) They pressed the alarm.
B) They tried to stop him.
C) They stood aside watching him gathering the money.
D) They were too frightened to do anything.
18. A) The sacks he carried were too small.
B) The policeman arrived.
C) He had a heart attack at that moment.
D) He was not allowed to carry large boxes or sacks.

P assage Two

Questions 19 to 21 are based on the passage you have just heard.

19. A) Lack of confidence. B) Lack of intelligence.
C) Carelessness. D) Absent-mindedness.

20. A) He decided to go to a seaside town to give lectures.
B) He decided to have a holiday with his children on the beach.
C) He decided to go and visit a friend of his in the seaside town with his children.
D) Both B and C.

21.-A) He forgot where he was going.
B) He forgot his friend’s address.
C) He forgot to tell his wife where he was going.
D) He forgot to take the train tickets.

Passage Three
Questions 22 to 25 are based on the passage you have just heard.
22. A) He may want to make people believe the facts.

B) He may want to make people doubt the facts.

C) He may want to make people feel happy or sad, or think.

D) All of the above.

23. A) The facts of the story. B) The human interest in the story.
C) The language of the story. D) The plot of the story.

24. A) 1,000 copies. B) 1,010 copies.
C) 10,000 copies. D) 11,000 copies.

25. A) He intended to give his friend a true idea of the success of the book.
B) He kept it a secret.
C) He did not know.
D) He forgot the exact number.
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Directions: In this section, you will hear a passage three times. When the passage is read for the
first time, you should listen carefully for its general idea. When the passage is read for
the second time, you are required to fill in the blanks numbered from 26 to 33 with the
exact words you have just heard. For blanks numbered from 34 to 36 you are required
to fill in the missing information. For these blanks, you can either use the exact words
you have just heard or write down the main points in your own words. Finally, when

the passage is read for the third time, you should check what you have written.

The Norwegian Government is doing its best to keep the oil industry under (26)

Production limits have been (27) down; and oil companies have not been allowed to employ
more than a (28) number of foreign workers. But the oil industry has a way of getting
over such probleins. As a Norwegian (29) said last week, “We will soon change beyond all
recognition.”

During the past few years the program of development in the northern area of the Arctic Circle has
had a great deal of success: Tromso has been built up into a (30) .capital with a university, a
large hospital and a healthy industry. But the oil industry has already started to draw people in south,
and within a few years the whole northern policy could be in (31)

The - (32) of the oil industry would not be limited to the north, however. With nearly
100 percent employment, everyone can see a situation (33) in which the service industries

and the tourist industry will lose more of their workers to the oil industry. (34)

The real argument over oil is its threat to the Norwegian way of life. (35)

)

but they are an important part of it, because Norwegians see in them many of the qualities that they
regard with pride as essentially Norwegian. (36)
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Section “

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end
of each conversation, one or more questions will be asked about what was said. Both
the conversations and the questions will be spoken only once. After each question there
will be a pause. During the pause, you must read the four choices marked A), B), C)

and D), and decide which is the best answer.

1. A) She doesn’t really need one.
B) She is difficult to please.
C) She doesn’t want to pay a large sum of money.
D) She needs plenty of space.
2. A) He’s not interested in the game at all.
B) He’d like to get tickets for the game very much.
C) He’s already got some tickets for the game.
D) He feels very angry because the woman has misunderstood him.
3. A) They feel too tired to accept the invitation.
B) They have eaten out too much that they are used to it.
C) They have no alternative but to go.
D) They have different opinions about whether to eat out or not.
4. A) He will go to Mr. Johnson’s office.
B) He will help the woman to move the items.
C) He will drive the woman’s car to his own office.
D) He will call Mr. Johnson to move the items together.
5. A) She agrees with the man.
B) Most people hold the same opinion with Jack.
C) This year’s football season will be less exciting.
D) People won’t be disappointed with the coming football season. -

6. A) At 7:50. B) At 8:30.
C) At 7:40. D) At 8:40.
7. A) On a campus. B) In a hospital.

C) In a library. D) In a department store.
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8. A) Put on expensive costumes.

 B) Leave the city for the night.
C) Ask his younger sister to be the babysitter.
D) Have a night out with his wife.

Questions 9 to 12 are based on the conversation you have just heard.

9. A) Soft and yellow. B) Hard and red.
C) Medium and blue. D) Medium and red.
10. A) $1.40. B) $2.80.
C) $0.89. D) $1.78.
11. A) $4.20. : B) $2.80.
C) $2.29. D) $1.78.
12. A) Cars Magazine. B) Reader’s Digest.
C) Neither of them. D) Both of them.

Questions 13 to 15 are based on the conversation you have just heard.
13. A) They had an appointment.

B) The woman wanted to go to a shopping mall with the man.

C) She wanted to go outings.

D) She wanted to invite the man to dinner.

14. A) He didn’t receive the phone call. B) He went shopping the whole day.
C) He was with David Field. D) He went swimming in a river.

15. A) He went to David Field’s home. B) He went on a river trip.
C) He spent the whole day shopping. D) He went to another dinner party.

'Section (B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will

hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question, you must choose the best answer from the four choices marked A),

B), C) and D).

/P assage One
Questions 16 to 18 are based on the passage you have just heard.
16. A) The United States is quite rich in natural resources.

B) The Americans are the people with knowledge and skills from many countries.
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17.

18.

C) The young Americans are well-educated to value the irﬁportance of cooperation.
D) The workingman is now enjoying the wonderful life he achieved through struggle.
A) The workingman laid a firm foundation for the whole nation.

B) The land has an abundance of natural resources.

C) The United States has some of the best farm lands in the world.

D) People from many countries brought with them a wealth of knowledge.

A) The education of his children.

B) The fight for his existence.

C) The increase of the value of his own.

D) The problem of cooperation with his children.

/P assage Two
Questions 19 to 21 are based on the passage you have just heard.

19.

20.

212

A) The liberation movement of British women.
B) Rapid economic development in Britain.

C) Changing attitudes to family life.

D) Reasons for changes in family life in Britain.
A) Because millions of men died in the war.

B) Because women had proved their worth.

C) Because women were more skilful than men.
D) Because factories preferred to employ women.
A) The concept of the family as a social unit.

B) The attitudes to birth control.

C) The attitudes to religion.

D) The ideas of authority and tradition.

/Passage Three
Questions 22 to 25 are based on the passage you have just heard.

22.

23,

24.

25

A) Nearly 7 million. B) Nearly 17 million.

C) Nearly 70 million. D) Nearly 77 million.

A) Early this century. B) Around 1840.

C) After 1930. D) In the late 1800s.

A) With the coming of the automobile. B) In the 1960s.

C) 160 years ago. D) In the late 1800s.

A) The rising price of gas. B) People’s concern for air pollution.

C) The growth of bicycle production. D) The high quality of bicycles.
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'Section (O]

Directions: In this section, you will hear a passage three times. When the passage is read for the
first time, you should listen carefully for its general idea. When the passage is read for
the second time, you are required to fill in the blanks numbered from 26 to 33 with the

exact words you have just heard. For blanks numbered from 34 to 36 you are required
to fill in the missing information. For these blanks, you can either use the exact words
you have just heard or write down the main points in your own words. Finally, when

the passage is read for the third time, you should check what you have written.

In the first year or so of Web business, most of the action has resolved around (26) to tap
the consumer market. More recently, as the Web proved to be more than a (27) , companies
have started to buy and sell products and services with one another. Such business-to-business sales

make sense because people (28) know what product they are looking for.
Nonetheless, many companies still (29) to use the Web because of doubts about its
reliability. “Businesses need to feel they can trust the pathway between them and the (30) A

says senior analyst Blane Erwin of Forrester Research. Some companies are limiting the risk by
31 online transaction only with established business partners who are given access to the
company’s private Intranet.

Another major shift in the model for Internet commerce concerns the technology (32)
for marketing. Until recently, Internet marketing activities have focused on (33) to “pull”
customers to sites. In the past year, however, software companies have developed tools that allow

companies to “push” information directly onto customers. (34)

. Online

culture thinks highly of the notion that the information flowing onto the screen comes there by specific

request.
(35)

- A Web site selling the right kind of products with the right

mix of interactivity, hospitality, and security will attract online customers. And the cost of computing

power continues to fall, which is a good sign for any enterprises setting up shop in silicon. (36)




Test 3

Section "

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end
of each conversation, one or more questions will be asked about what was said. Both
the conversations and the questions will be spoken only once. After each question there
will be a pause. During the pause, you must read the four choices marked A), B), C)

and D), and decide which is the best answer.

1. A) It will probably rain tomorrow.
B) It will rain much later in the week.
C) He needs to buy another umbrella.

D) The weather forecast is always inaccurate.

2. A) The movie is not good. B) The movie is excellent.

C) He wants to see the movie again. D) He doesn’t want to stay at home.
3. A) He was tired. B) His appointment was changed.

C) He had a flat tyre. D) His bicycle was stolen. .
4. A) At the reception desk in a hotel. B) In a bus terminal.

C) In a restaurant. D) In a hotel room.
5. A) 9:05. B) 8:55. C) 9:00. D) 8:50.
6. A) A thriller. B) A tragic play.

C) A comedy. D) A funny clown.

7. A) The woman is watching an exciting film with the man.
B) The woman can’t take a photo of the man.
C) The woman is running toward the lake.
D) The woman is filming the lake.

8. A) The speakers will not do as planned in case of rain.
B) The speakers will postpone their program if it rains.
C) The weather forecast says it will be fine.

D) The weather doesn’t count in their plan.
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Questions 9 to 12 are based on the conversation you have just heard.
9. A) Buying a pair of Adidas tennis shoes.
B) Asking her father for a pair of Adidas shoes.
C) Discussing with her father about Adidas shoes.
D) Joining the tennis club in school.
10. A) They don’t help sports players at all.
B) They don’t live up to their fame.
C) They may be comfortable but are too expensive.
D) They are good for track and field sports but not for ball games.
11. A) He thinks Adidas would cost him quite a lot of money.
B) He doesn’t think the woman will run.
C) He doesn’t think the shoes will help the woman in the games.
D) He doesn’t think the woman will play sports for long.
12. A) She makes good use of an ad to convince the man.
B) She is easily fooled by ads.
C) She didn’t play much sports before.

D) She wants to hear the man’s opinion about Adidas shoes.

Questions 13 to 15 are based on the conversation you have just heard.

13. A) Zhuhai. B) Shenzhen.
C) Guangzhou. D) Fuzhou.

14. A) Immediately. B) Towards the end of the month.
C) Next month. D) Tomorrow.

15. A) Start a new business. B) Strengthen personal contacts.
C) Visit the headquarters. D) Cancel an order.

R it

'Section B/

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will
hear some questions. Both the passage and the questions will be spoken only once. After
you hear a question, you must choose the best answer from the four choices marked A),
B), C) and D).

P assage One

10

Questions 16 to 18 are based on the passage you have just heard.
16. A) Students. B) Buildings.
C) Teachers. D) Equipment.
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17. A) Physics. B) Painting and crafts.

C) Speech. D) Business and technical skills.
18. A) Theoretical rather than applied knowledge is emphasized.

B) Teachers come from all over the world.

C) Each course does not last long.

D) New ideas are seldom adopted in their teaching.

Passage Two
Questions 19 to 21 are based on the passage you have just heard.

19. A) It makes you unhappy at work.

B) It affects your health.
C) It makes you worry about everything all the time.
D) Both A and B.
20. A) Aches or pains for unknown reasons. B) Lack of interest in activities.
C) Failing memory. D) Eating too much.
21. A) See a doctor and try to relax more. B) Change to another job.
C) Assume fewer responsibilities. D) Let it be.

P assage Three
Questions 22 to 25 are based on the passage you have just heard.
22. A) The lack of sleep.
B) The difficult question.
C) The requirement of your creative thinking,
D) The requirement of your original thinking.
23. A) Do simple addition. B) Do okay on tests of routine thinking.
C) Answer creative questions well. D) Tell other people their names.
24. A) To help them repair their brains.
B) To stimulate their interests of the question.
C) To buy some medicine which can make them exciting.
D) To encourage them to do better.
25. A) Nurses. B) Children. C) Students. D) Businessmen.

11
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'Section €/

Directions: In this section, you will hear a passage three times. When the passage is read for the
first time, you should listen carefully for its general idea. When the passage is read for
the second time, you are required to fill in the blanks numbered from 26 to 33 with the
exact words you have just heard. For blanks numbered from 34 to 36 you are required
to fill in the missing information. For these blanks, you can either use the exact words
you have just heard or write down the main points in your own words. Finally, when

the passage is read for the third time, you should check what you have written.

As is known to all, the organization and management of wages and salaries are very (26)

Generally speaking, the Accounts Department is responsible for (27) of pay, while the
Personnel Department discuss with the employees about pay.

If a firm wants to (28) a new wage and salary structure, it is essential that the firm
should decide on a method of job (29) and ways of measuring the performance of its
employees. In order to be (30) , that new pay structure will need agreement between Trade
Unions and employers.

In job evaluation, all the (31) of each job are defined in a detailed job description.
Each of those requirements is given a value, usually in “points”, which are (32) together to
give a total value for the job. For middle and higher management, a special method is used to evaluate
managers on their knowledge of the job, their responsibility, and their ability to solve problems.
Because of the difficulty in measuring management work, however, job grades for managers are often
decided without (33) to an evaluation system based on points.

(34)

. It should also consider economic factors such as the cost of

living and the labor supply.
(35)

. Where it is simple to measure the work done, as in the

work done with the hands, monetary encouragement schemes are often chosen, for indirect workers.
(36)




